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Answer: D

QUESTION: 27
Which command, when executed, will enable workload management for column-organized
table workloads?

A. db2setDB2_WORKLOAD=ANALYTICS

B. db2set DB2. WLM_DISP_CONCUR=START

C. UPDATE DBM CFG USING WLM_DISPATCHER YES

D. UPDATE DBM CFG USING WORKLOAD TYPE ANALYTICAL

Answer: C

QUESTION: 28
When does space reclamation for a column-organized table normally occur?

A. Whenever an individual row is deleted.

B. Whenever an individual row is updated.

C. After all rows in an extent have been updated.

D. After all rows in an extent where updates took place have been deleted.

Answer: A

QUESTION: 29
When can a high availability disaster recovery (HADR) role switch operation be performed
in a DB2 pureScale environment?

A. When crash recovery is occurring on the standby cluster.

B. When all the log streams are in peer or assisted remote catchup state.

C. When the primary database is not connected to the standby database.

D. All the log streams are in remote catchup state and the synchronization mode is
NEARASYNC.

Answer: D

QUESTION: 30
Which statement about expression-based indexes is true?



A. The RUNSTATS command cannot be used to collect statistics for expression-based

indexes.

B. Expression-based indexes must always be defined as UNIQUE to prevent duplicate index
keys.

C. Expression-based index keys consist of a concatenation of one or more specified table

columns.
D. The index key values of expression-based indexes are not the same as the values in the

corresponding table columns.

Answer: D
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